
Errata

Chapter 2

p. 25/(2.2.11-12) forgotten derivative h/dt → dh/dt:
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p. 26/(2.2.18) F1 → F2:
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p. 37/(2.2.80) : wrong sign: +G[f(cxW )] → −G[f(cxW )]

p. 47/11,bottom parentheses:

+

(

−

q

V
−

αF

V ρcp
+

(−∆H)

ρcp
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Chapter 3

p. 5813 wrong sign − → +:
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p. 61 (Final value theorem, proof) forgotten derivative f/dt → df/dt:

∫
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0

f(t)

dt
e−stdt = sF (s)− f(0)

and taking the limit as s → 0
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change for
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dt
e−stdt = sF (s)− f(0)

and taking the limit as s → 0
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p. 75/(3.2.43) forgotten derivative x/dt → dx/dt:

x(t)

dt
= Ax(t)

change for
dx(t)

dt
= Ax(t)

p. 84/3 : Index missing F1: where a1 = T1 = (2F1
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Chapter 4

p. 1236 incorrect reference to equation: Substracting (4.2.37) from→ Sub-
stracting (4.2.38) from

p. 13410, 1402, 1401, 1412, 14315 Show degrees correctly 5 times: o
→

◦
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p. 139, (4.3.11) missing j in denominator
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